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Answer the Questions from any one Option.

OPTION-A
(Cell and Molecular Biology)
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Full Marks : 60
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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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(vi) Name the subunits of 80S ribosome.

OPTION-A
80S JBI'TE ToiraifoT T it |

(Cell and Molecular Biology)

. BOT-RE-5016 | § iy 99
NERET . f (vii) What is leucoplast ?

1. Answer any seven of the following | sl T B g
questions : 1x7=7
RigFlc Fesr e Teq Tl 8 (viii) What is the composition of DNA ?
43 ; ' . fC.aq.q3 @i & 52
(i) Who invented electron microscope ?
(I 2CETRG Sa el T Wﬁ'ﬁﬁ SRR ? ~ (ix) What is primer RNA ?
(i) What is the SAT-chromosome ? | ' 23T ARG T2
SAT-chromosome K (x) What is the function of the enzyme DNA
(iii) Plasma membrane is . ligase ?
. (Fill in the blank) fo.q.4 wiEre GreizR I &
EICEIESD (3 IR 99 )
: (xi) What happens at the anaphase stage
(iv) Write the name of stain used 1 ' of mitosis ?
fluorescence microscopy. @ RO BE 0 B 2
IR SR TEe JRE 2 |6l OO |
CICRGE ' (xii) Who discovered nucleus ?
he cell | @ (Y SN FLfee

(v) Name a microbody found in t

(PES (AR Bt AR fex A orel| 3 (Sem-5/CBCS) BOT RE I/RE2/RE3/G 3 Contd.
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2. Answer any four of the following questions : (viii) _What is the difference between genetic

2x4=8 | ' RNA and non-genetic RNA ?

Ricerzar B! erprEd ©e forel ¢ . SRR S, I S-SR SR

9
(i)’  What is the difference between 70S and . AL 2

80S ribosome ?
‘Write short notes on any three of the

70S Wi 80S FEIE T AL 2 | 3.
following : Sx3=15

(i) What is the function of plasma

membrane? - L ooTe el e fofiR 5 e i g

(rREeE R , (i) Different types of plastids
(i) What is a vacuole ? Rfen doiRe 2 [am

ke e N . .- (i) Lac operon |
(iv) What is oxysome ? @ SeE

i q {52 e St

_ - (i) Structure of t-RNA

(v) What are the different types of RNA? ¢ RNA-F 50

.. T 2R B e
(iv) Difference between smooth endoplasmic

(vi) What is the significance of mitosis ? . reticulum and rough endoplasmic
wis @R Koo oy 52 ' reticulum

(vii) What is crossing over ? | _ il @fngwﬂ“‘ e S T SR
ozaifs el 57
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(v) Peroxisome
RS

(vi) Structure of cell wall
(PR i

(vii) Function of Lysosome
FRRG I

(viii) Ultra structure of chloroplast

4. Answer any three of the following
questions : 10x3=30

©eTS WAl Rz forant erprza Sas forel ¢

() Draw and describe the structure and
function of nucleus.

(PTG (I S PIFS 0T 5F F2IE 3901
=l

(it) Describe the structure and function of
Golgi complex.

T ARTT 5107 O 1 2T 754 |

3 (Sem-5/CBCS) BOT RE I/RE RE3/C 6

(iii)

()

(v)

(vi)

Descr_ibe the structure of B-DNA.
- a.aq 9iom Ielqi a1 |

Describe with diagram the replication
of DNA in eukaryotes.

foaTe Al Cfens [G.9q.99 WPF@ o
S ' e

Write a brief note on “genetic code”.

“Genetic code”d RaTA @bl 53 (i il |

Describe the process of transcription
in protein synthesis.

oo AT (BTieraioee AfEFas! qda ===t

(vii) Describe Tryptophan operon.

Boi5 e wieliae) el =5l

(viii) Describe with diagram the replication

of DNA in prokaryotes.

e e Sfen 9.9’ SgoreR. T
41|
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OPTION-B

(Economic Botany and Biotechnology)

Paper : BOT-RE-5026

Answer the following questions/Fill in the

blanks : (any seven) 1x7=7
o ePPTEE Bes Tl /<t Ot sfFel 1 ¢ (R
) |

(@) Name orie chemical used for

(b)

()

(d)

sterilization in plant tissue culture.

Bfen FARETe SRIIEHCR A 770 dfRE

mmﬁﬁmﬁm

The state with highest production of
black pepper in India is

_TW@T%W@QWW

e TE |

" Give the full name of RFLP.

RFLP 3 5=j¢f /i1 foraf |

What is the name of the protein present
in wheat ?

Eles (ol @ifbaRee S &

3 (Sem-5/CBCS) BOT RE I/RE2/RE 3G 8

(e)

(9)

Name the alkaloid present in black
pepper.
QTS (AR SorwiRiE F |

Which among the following is not

functional Genomics ?
oo Al (FRRY FiEFS o N T2 e
(i) Transcriptomics

G R e

(i) Proteomics-

GMESIBE
(iii) Genome sequencing
s fepEER

(iv) Metabonomics

R T

Western Blotting technique is used to
detect

e e N L

ISP B R
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() The characteristic fruit of cereals is

known as : :
QAP BoEIR) Sfene AR T
e 5L |
() What is Repetitive DNA ?
. [Rf*fe DNA f&F?

() Who proposed the concept of “centre
of origin” of crop plants?

=7 Sfere “Sesifen (@mEer” TR 9iFell (e
o FCI? ¢

(k) Gynogenic haploid plants are obtained
through

SE (T (RTC SRR wizFd F6
(i) Ovule culture
fEmredan @
(i) Anther culture
oAiofiT FR (ol
(iii) Embryo culture
T (Aiesim
(iv) Shoot tip culture
G Sratiesf e Ao

3 (Sem-5/CBCS) BOT RE 1/RE 2/RE 3G 10

() The seeds of cotton are covered by short

fibres known as

il TerTEe SIS IR 0 56 e

(=T |
2. Answer the following questions : 2x4=8
ol ETRE T feTel g
(a) What is the role of VNTR in DNA finger
printing ? :
DNA el f@ifose VNTR 3 ofiml 2

(b)) What are beverages ? Name fwo non-

alcoholic beverage yielding plants.

TR AR [ 2 7R RRER SRl AR
TeomaR Sfgra A T

(c) What are the differences between
transcriptomics ahd metabolomics ?
G5 ol % GO s e wiere. 4
s 2
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(d) Define primary database with example.

TrizeT Al (UhiEs ALl W |

(e) Write the scientific name and usable
parts of wheat. :

(o R =i SN e ST 1% &7 |

() Write the botanical names of two
common pulses.

Ry AGEe RGO X7 SLARFH] TiEwd
Sfgnfeerrsse aF & -

(g) Write briefly on chemical constituent
- of Soybean.

e AR GeAmAe R b el |

(h) What is Recombinant DNA technology ?
DNA 2fsfon Fifeesal e 2

3. Answer any three of the following
questions : 5x3=15
o ARPTEE PRI R foribq Ted il ¢
(@) Write a short note on different

components used in plant tissue
culture media. '

T Tl Mg e [eq SAMIATRRI
T «fo 55 (it fordi |

3 (Sem-5/CBCS| BOT RE 1/RE 2/RE 3/G 12.

(b)

(c)

(d)

(e)

3 (Sem-5/CBCS| BOT RE 1/RE 2/RE 3G 13

Write notes on :

COrst fovalt ¢

(i) Applications of embryoéulture
TR ACTIE

(i) SNPs

Write down the botanical name,

morphology and uses of black-pepper.
G SRS A, SROPRER I
JRAERR &l |

‘What is hybridoma technology ? Give

few apphcatlons of this techmque

e afe /e @@ c«f\ﬁaﬁmmﬁm
GIGIRGEI

Differentiate between :
sfidfay MYEd ¢
(i) Green tea and Black tea

S oo @ B
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@

(h)

(i) -Primary centre of origin and
secondary centre of origin of

crop plants:

7 SfemTa A @vn%a G
iF (N Seolfer (Farge

- What are databases? ‘State the
importance of databases in biological
- sciences. ' |
(CHIRTAR B2 TRkENS (CHERRE
ST |

Write short note on human gene

‘therapy.
TR fom (xR R o it o

Discuss 'in brief the applications of

~ bioinformatics in crop improvement. .

PR BT TS GROYRT A
e

3 Sem-S5/CBCS) BOTRE I/RE 2/RE3/6 14

e X

questlons

. Answer any three of the following

10><3 30

wwwmfﬁmmm

(a)

(b)

3 (Sem- 5/CBCS) BOT RE 1/RE 2/REY/C 15

Give the common name, famlly,,
morphological nature of plant part
yielding economic products and uses
of the following crop plants : (any two) -

5+5=10

frfeife =) SfemnRe e T, o,
GYATST T BeATFIST Tfew ST SRR
#4FfS =T 2T I T 1 8

(Rieieat ¥51) |

(i) Cicer arietinum

(i) Camellia sinensis

(iiij Glycine max

(iv) Syzygium aromaticum

'What is the importance of haploids in
higher plants ? State the two methods
of haploid production. Describe the -
method of production of haploid
through androgenesis. 2+4+4=10

Contdf



()

(d)

(e)

@wcﬁ%@ﬁwm@wﬁ?@m
Beollied ES 70 Grmd o1 | 9 TR
NS (Z2TC T Awe el 4 |

Who invented PCR technique ? What
are the requirements of PCR '
technique ? Write about the
applications of PCR. 1+3+6=10

PCR #af® (it SfwE FR(wT? PCR
oEfoq IR SlREAfeER 6 &2
PCR 3 @iz Racd &l

Discuss about the morphology,
botanical name, family and uses of
cotton plant. Name the four species of

cotton plant. 2+1+1+4+2=10

91T 52 SROPE GRS I, (ol d
I 2T R SEDA 91 | bAoA
oGifes a9 &)

113 - . . . > )
Bioinformatics is a typical example for

multidisciplinary subject.” Discuss.

“Greim Ba wkene [faee g ol
TAIZE 7 SIS 4 | |

3 (Sem-5/CBCS) BOTRE I/RE 2/RE3/G 16

() Write notes on :

(9)

(h)

3 (Sem-5/CBCS) BOT RE 1/RE 2/RE 3/G

5+5=10
Bt ol 8

(i) Endosperm culture
FECARTE |
(1) Principle and application of ELIS
ELIPSA S J&1 AIf® i ACPRER
What 1s micropropagation ? State

the procedure and application of
micropropagation. 2+8=10

Wmﬁs?wmmmmmm
S |

Write short notes .on @ 5+5=10

5y (ot fora 8

(i) Significance of Biotechnology
TeeRfERmR el

(i) Sterilization techniques used
during tissue culture

R TS IRES SRIFET
(TR
o iyt Coae
17 | Contd



OPTION-C

( Genetics and Plant Breeding)

Paper : BOT-RE-5036 .

1. Answer the following questions : (any seven)

1x7=7

o oHIERE O Wal o (R Sent)

(a) Who first coined the term ‘mutation’?

(b)

(c)

(d)

(e)

‘G *[0! AT (I IR 2
What causes chromosome deficiency ?

QP SFeTE Pl b o1l 2

What do you understand by homo-
zygous tall and homozygous dwarf ?

TSGR 9 O FYSH- el Ifeie [
Sk

Define linkage maps.

FeEieeld NAbEs e fat

Who first explained ‘monogenic
inheritance’?

"GTTET) AN Pl Tt Ayt R 2

3 (Sem-5/CBCS) BOTRE I/RE 2RE 3/ 18

(9)

What is tautomerism ?
oS 2

How many sets of chromosomes are
present in autotetraploids ? ‘

DO BTG (2] (95 AT ?

(h) Mention the characteristics of plasmid.

AT &Y S 99 |
‘ () Where is the centre of origin of crop

plants ?
75 Sfens Seoifeq (e 7w

() What is the cause of ‘Klinefelter’s
syndrome’?
Klinefelter’s syndrome’ @9 T&F &9

(k) Give one example of male sterility in
plants. |
Tigns sjq@mie o) Suigse x|

()  What is lethal allele ?

. e AT @2
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9.  Answer the following : (any four)
2x4=8

weTs il e B! 2R Tes o ¢

(@) What is ‘Law of purity of Gametes’?
T el (@IE @ /62

(b) Define Pleiotropism.

‘Pleiotropism’ S K& Gl

(c) What do you understand by incomplete

dominance ?

sprrpef eRETel JereE 6 qE?

(d) What is nullisomy ?
Nullisomy’ &7

(e) Differentiate between Heterosis and

Inbreeding Depression.

@%ﬁzwwa@mwmﬁcﬁwl

() What is distant by hybridization ?
7 T e

3 Sem-5/CBCS) BOT RE 1/RE 2/RE 3G 20

Fm——— -

3.

(g) Distinguish between complementary

and supplementary genes.

vﬁﬁ%ﬂwﬂwﬁ@@ﬂﬂwmﬁvﬂl

(h) What is the advantage of pedigree
analysis ?

exige Reager ARd 2
Write short notes on : (any three)
5x3=15
53 Bl vl 8 (Reereant fofaet)
(a) Cytoplasmié Inheritance
@R A
(b) Linkage
GRS
(c) " Mendelian Inheritance

e Iiafte

(d) Acclimatization
sifRFER omFe

3 (Sen-5/CBCS) BOT RE 1RE2REG 21 Con



(e)

; fg)-

(h)

4. Answer the following : (any three)

Chi-square
sl
Translocation
LGl '
Epistaéis

G ez
Budding

AFeTe

10x3=30

w5 AR el Tl ¢ (R fefon)

(@

(b)

Explain with the help of diagram the
‘meiotic behaviour of paracentric and
- 5+5=10

o7& @< MRS paracentric S
pericentric inversion ¢, 2PN (I

pericentric inversion.’

Write about the salient features of the
chromosomal theory of inheritance.

qoxiolfSq @oFIal TeAMT T TR B |

(Sem-5/CBCS) BOT RE 1/RE 2/RE3/6 22

s 4

(@)

(e)

Discuss the role of polyploidy in crop
improvement. _

<% 7 il JMeS polyploidy 31 IZETOR
Sl SCETIve B | :

What is crossing over ? Discuss -

cytological proof of crossing over with
the help of example. 2+8=10

o Bfwn 5o Swise TREE Tn KR

@I A SEThe 49 |

Give an account of the hybridization
techniques.

Hee (FTEPTTRR RE R |

With the help of suitable example
discuss polygenic inheritance.

Toie Sigadd TR TG I
WCE“W[ 4|

(g) Distinguish between Aneuploidy and

3 (Sem-5/CBCS) BOT RE 1/RE 2/RE 3/G

Euploidy. Describe in detail about the

different types of aneuploids.
3+7=10

Aneuploidy ™% Euploidy 3 sron ol |
s 4269 aneuploids O R Ize 39

9
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(h) What is induced mutation? Give an
account of physical mutagens.

| | 2+8=10 .
| oA SentRRd R e (1T BesiRISTIT
R SCEns=t 341 | |
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